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The expected Kinematic chain for this element is: 

 
A couple of remarks: 

• The cart is expected to have 4 equal wheels. The wheel inertia is per-wheel and the 

tool multiply this value *4 to consider the 4 wheels. 

• The mass of the cart structure should include the mass of the wheels and also the mass 

of the Gearboxes. The mass of the motor should not be included there as it is 

internally considered by the tool. 

• You can select if the cart is driven by 2 or by 4 motors, the tool will divide the torque 

requirements accordingly. 



 
 
 

 

     

 

 

 



 
 
 

 

     

 

 

 



 
 
 

 

 
 

 

 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 

 

 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 



 
 
 

 


